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8. Fill in the blank with an inequality involving m and p and then preef the
result. Let vy,...,v, be vectors in R™. If _¥N < 39 , then
Upyen. s v, are linearly dependent. Z®

The € Guulien @ ~t cpVp :O) Cobt?S foudS Ho 4 }mr‘?&'jf%fa?_&
Q’g‘(((/—? 0-1 I atih ef’&q'{f@L) b1 |m€3q¢fr°oﬂ Q//,f ?Wuq&/ﬂs‘
This sysies OF Efagfiows f\m af lesst e Eﬂ/g]‘{"or-, bc'(q\qsg{

(s G Soktion, Whey e fot THe rave K

£ the f
X freiealy s R héclac g dyt’ﬂc( Foemn ek Se.e; )

7= <, ¢
He hamb 71 /f“'&(f? Dhes < Lo Neppr e 4 Yt = b Nes4 Aq dsrms.

2 e dcé S5
T4 follos et Sove COktrm Cor ton
Thé Cfﬁ"'l’c@/dud;ij (/'QL('qélc "’14:3 "fé"tl( ay] % J f’@

has /’—fel( tlae e©4e )’6{411‘1'0‘7 Gerd ZVISRY. 'I/p? @ e
|CangHq dtlendent,

G Sy = s tYT=

9. True or False. (If true, explain why or give a proof. If false, give a counter
example.) If vy,v9,v3 are lineaﬂy independent vectors in R* and T: R* — R3
is a linear transformation, then T(v1),T(vs),T(v3) are linearly independent
vectors in R? .
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